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Seventh Semester B.E. Degree Examinafion, Jan.ll.-eb. 2021
Obiect-Oriented Modeling and Design

-l'inre: 3 hrs. Nlar. Marlis: l0[)

Notc: Answ,er un-y FIVEf tll questiorts, selecting trt leust TWO./itll questions.fi'onr euch purt.

PART _ A
I a. What is Obtect Oricntation'/ tslaboratc on the major thcrrcs that arc r'vell su1-rportcrl in Ob.icct

Oricnteci tcchnology. (t)tt ltartis)
b. Usc illustrations iinci crplain thc fbllorving with UML convcntiorr.

i) Cllass ii) Values and attributes iii) Opcrations ancl MctlroLls. (()6 \larks)
c. \\/hat is generalization/ flricl'1y discuss the gcneralization for equipntcnts ri ith ncat diasnrrrr

(06 )larlis)

I:xplain the lbllorving: i) Association IJncls ii) N-ary Association iii) (onstrainls ou links
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b. Explain the suurmary of basic state diagranr notation rvith stylc coltvcntiolrs.
c. What is state'l Explain thc various characterizations of a state.

(0(r llarlis)
(0tt llurlis)
(06 llarlis)

What is a ncstccl state? Illustrate the impofiancc of iiggrcgation concurrcncv u.ith the hclp o1'

Li state diagrarl. (08 )tarlis)
Lxplain Lrse casc relatronship'"vith a neat diagrant. l.ist thc guirlclincs Ibr Lrsc casc
rclationships. (08 \tlr.tts)
Explain Srvirnlanes with a neat activity diagram. (0.1 xtarlis)

Identify the classes fbr ATM bank system. What critcria wor-rld you tal<c jnto consicleration
to select right classcs / Explain. (0s \tarks)
What is System conception'l List and explain questious that rnusl bc ansu'crccl b1' a gottd
svstenr conccpt. (08 )lrrrlis)
I)ilferentiate between rvaterfall approach and itcrative approach. (0"1 \tar.ks)

5

6

7

8

PAII.T - B
a. Lrst artcl explain thc steps lirr construrcting application state n-rodcl. (l()Illrtis)
b. Describc the steps involvcd to allocate each concurlenl sLrb-systent to a hardrvarc Lrnit. cithcr

a general purpose processor or a fiactional unit. (10 Nlarks)

a. Briefly cliscuss thc cicsign optirnization and explain its tasl<s in detail. (ott llrrlis)
tl. What is finc-tuning classes? Explain line-tuning generalization by clcvcloprng n lranslation

model. (ott \tar.ks)
c. Iixplain hor,v to bridge thc gap fi'orn high-ler,'el rcquircmcnts to lou,-lcvcl scn'iccs in class

design. (01 ltarks)

a. Whal is Pattcrn? Explain briefly properlies ol'patlcrns fbr soliu'arc'architcctrrrc (0ll \tarks)
b. lrxplain clicnt-dispatcher design pilttern. (ott i\larlis)
c. Dcscribc three categories of pattcrns. (0,1 ltartis)

a. Irxplain the cornmand proccssor design pattern. (0ti ttarks)
b. What are idonrs and styles'l Explain with the help of an cxanrple. (04 ]Iarlis)
C. WritC a nr)lC r)n:

i) Structure olvierv handler pattern.
ii) Cr-rnsequcnce ofr,'iew hantller pattern. (0u \t.rrl<s)
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USN

Seventh Semester B.E. Degree Ex
Embedded

Time: 3 hrs.

Note: Answer ony FIVEfull qaestiow,

a. Define Embedded
System?

System. What

b.

2 a. List and explain
b. Explain the

diagram.
c. Assume that a a two level cache.

Level 2 rate of 97Yo.The
access time and the main
memory

3a. the structure
for Bus

b different types used

U.

4a.
b.

5 a. What is RTO$? the
b.
c.

Time in the

6 a. Explain the and
Embedded

b. Explain

1)OCS1

I s
eb.202t

Max. Marks:100

euch purt.

and1 of an Embedded
(06 Marks)
(06 Marks)
(08 Marks)

(06 Marks)
(07 Marks)

s
ln (08 Marks)

set assoeiative cache with a neat
(08 Marks)

@evel 1 cache has a hit rate of 90% and the
cache access tirne is 4 ns, the level2 cache

fime is 80 ns. What is the average
(04iMarks)

read and write. Discuss the
(07 Marks)

wittr their functions.
(05 Marks)

Explain the
(08 Marks)

Software. (10 Marks)
troops. (10 Marks)

*:.:

RTOS.
IPC.

in

b
c. Explain

8 a. Explain the

- ::"""'iflliit

c. Write pish-grt note

(ii)

wittr , P2, completion time 12, 10, 6
the ready together. Process P4 with estimated

Tum
the ready queue after 3 milliseconds.

for each process and the Arrerage
(07rMarks)

in the selection of an RTOS for an

Cornmunication
, (10 Marks)

andPower (ACFD (10 Marks)

networks. (05 Marks)
(10 Marks)
(05 Marks)

Bus Bus
fornoat.

(i) ]vlagnifi,ing (ii) Multimeter (iii) Digital CRO
(08tMarks)

of Simulator based Debugging.
(07 Marks)
(05 Marks)on

Explain the advantages

$

c. Explain the major steps in

that

TWO

an

Hardware and
architecture of

three cCImponents that are
explain

completion
the

and Tum

7 a. Briefly discuss the

Soft*w*re tools used
a lo€ic analyzer with

b.
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1a.
b.

c.

2a.

3

4a.
b.

b"

c" List and explain Selector F in CSS

J 's Screena.

b. help of an example
Output and Keyboard
for each, explain any

(05 Marks)

(10 Marks)
of Javascript. (10 Marks)

(06 Marks)
(08 Marks)
(06 Marks)

Marks)
XSLT
Marks)

Marks)
a file

Marks)

Marks)
Marks)
Marks)

(06 Marks)
(04 Marks)
(10 Marks)

5

and
J

tag.c.

8 a. Explain Ruby's and Keyboard Input functions.
b. How are Classes and Inherited in Ruby?
c, Write a note on framework and its Directory structure.
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Jan./Feb. 202L

Max. Marks:100

Seventh Semester B.E. Degree nxamiq#on;
Programmins l{ Wo



USN

Seventh Semester B.E. Degree
Advanced

Time:3 hrs.

Note: Answer F|VEfutl questions,

1 a. Define Instruction Set

b. State Also represent

10cs74

Jan./Feb.202l
re

Marks:100

TTTO

of an ISA.
(08 Mqrks)
(05 Marks)

assuming a defect
(05 Marks)
(02 Marks)

penalties. Illustrate a.rrvlT #ilTi
(08 Marks)

in a computer system.
(05 Marks)

parallelism for the

(06 Marks)

diagram. (04 Marks)

unit using Tomasulo's
(10.Marks)

Also, explain the steps involved
(12 Marks)

techniques for speculation. (0s Marks)

(04 Marks)
Snooping

(10 Marks)

synchronization in

level of the memory

are 1.5 cm on a

part,each

fivec.
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d. Define module and availability.

2 a" Define data Explain how to

b. List used to
detail.

3 a. Illustrate for
following

for
X[i]:

b. Explain 2-bit
c. With a neat explain ofa

A'lso define

4a. Target with a
ln an

in detail, the
.:::.

a.

b.

the

IiO crn on a side,

hazard stall by forwarding technique.

c. Find the die yield
density of 0.4 per

Explain
With a
Protocol

c.

(I, is 4.

5

6a.
b.

a

multiprocessor

, 
(06 Marks)

(10 Marks)
hierarchy.

(10 Marks)

\

at

i - 1)

branch

with a

MIPS

taxonomy

BTB.

2I of
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Also explain in detail,
(10 Marks)
(05 Marks)
(05 Marks)

eliminate the

(08 Marks)
(08 Marks)
(04 Marks)

b.

c

rate,

.'-sit$*
s

8 Find all the true
output dependences

for (i: 1; i <=100 ; i: +1
Y[i] :x[i]/c;
X[r] = X[r]
z[i] = Y1;1

Y[il:C_

+C;

)
Explain software
Explain

a.

in
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b.

c.
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Seventh Semester B.E. Degr

Time: 3 hrs.

Note: Answer any FIVEfull questions,

1 a. Explain the scope and life time of
b.

c.

2a.

iii) 'final'
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b. Explain
c. What is

class and inner clas
Write an applet

multiple threads
b. What do you mean by
c. Display the different"OS

using AWT selection
name when it is

4 a. Explain
b. Write a
c. Explain

four

6

celcius.
Explain

* a/5 + 321.

c. How session diffe$

3a.

a.

7 a. What is JSP? Explain
b. Define: Scriplet.
c. What is the use of

What
rlrlli,illr

do you mbpa.by EJB
is the use of JAR file

? Exp
E"pb. What ?

c. Explain a-bout the stateless session beans
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Java a

m subjecl. d

'r,$)llliil:i

(06 Marks)

(08 Marks)
created in Java. (06 Marks)

to accept two numbers and display the product
(06 Marks)

lain 1p of a program. (06 Ma rks)A?
How avo id

STindows, L

pro
lain with the of iient and

,Write an JAV
mouse.

statement

it could be 1n JSP gram.a

conditio n ln JAVA. (06 Marks)
created
the oS

Marks

etc on the'windor,v layout
A proglarn which displayos

)

(05 Marks)
(10 Marks)
(05 Marks)

JD ' (05 Marks)
of a program

(05 Marks)
query. Write a

(10 Marks)

. Explain with the help
to the database.

' object are used to execute the SQL
execute a query

temperature in Farenheit and converts it into
(08 Marks)
(04 Marks)

a program which demonstrates both. (08 Marks)

s ofJSP with an example each.

c side server appside

(08 Marks)
r (04 Marks)

lications.
(08 Marks)

lain 3 typ of EJBs in detail. , (08 Marks)
lain m how it could be created and viewed. (06 Marks)

the help of a program (06 Marks)

which

Exa

used in Java.
2D ind

scored by N

lOCS/I5753

Jan./Feb.2O2l

Max. Marks:100

TWO full from each part.

(04 Marks)
amays in Java with

(10 Marks)


